MAT 1375 (Prof. Shaver Fall 2018): Test 15

1) Find the domain of each of the following
functions:

a) f(z) =z + 52
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3) Solve the inequality, using the “Test
point” method we learned in class and
showing all work to justify your answer:
leave numbers in the form of integers or
fractions, not decimals. Give your an-
swer as a graph, then in interval and in-
equality form.
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4) For the function f(z) = v/x — 3, find the
value of each of the following. Simplify
vour answers as much as possible but do
not, use decimals.
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5) Give the formula for the function g(x)
whose graph is the same as the graph
of f(z) = /z but shifted to the left by
4 units and up by 2 units.

aém =\ T2

Page 2 of 2



